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INTRODUCTION

I. The US Constitutional and American Constitutional Law

a. Three unique features of US Constitution

i. Historical dimension:  was first of its kind

ii. Practice of the US Consititution:  not a professional discourse constrained to courts and lawyers

iii. US Constitution has become a focal point for a collective identity

b. Legitimacy of the constitution

i. Depends on widespread belief that the constitution is “successful”; legitimacy is not based on what happened 200 years ago

1. stability

2. prosperity

3. justice

II. Judicial Power

a. Question of Judicial Review

i. Court has authority to review congressional acts

1. Basis for power to review:

a. Relied on Marbury v. Madison case:  outgoing president Adams signed commissions for new judges just before leaving office, left the commissions on secretary of state’s desk and the commissions weren’t delivered.  Question is “are they valid?”  Court said that they were valid and that  the judges had a right to a remedy but the Judiciary Act that authorized writ of mandamus (similar to specific performance) fell outside of the grant of “original jurisidiction” of the supreme court so the supreme court couldn’t enforce it and that the Judiciary Act was therefore unconstitutional.

i. Two holdings of Marbury:

1. Court has authority to declare congressional acts unconstitutional

2. The constitution is supreme law of the land(?)

ii. Note that Marshall made no arguments based on history or legislative debates

iii. Note that Marsh made no arguments based on democracy or representation of the people

iv. Note that if the commissions had been for political positions like cabinet members then the non-deliverance would have been considered a political act and therefore non-reviewable by the court;

b. basically new government liked outcome of Marbury v. Madison (commissions didn’t take effect) so they didn’t challenge the court review part;

c. Arguments in favor of judicial review:

i. Constitution is a written document so by the nature of the constitution the court should be able to enforce it

ii. Can’t let the legislature review itself because then they would be too powerful

iii. Supreme court judges are appointed for life and are free from day to day political pressures – this tends to protect minority interests against the majority

iv. Textual argument (weak):  article III, section 2 starts with “The Judicial Power…”

d. Arguments against judicial review:

i. Nowhere is it written in the constitution that the court should have power of judicial review

ii. If court has judicial review then that gives them too much power

e. possible historical arguments:


i. Three types:

1. constitutional convention

2. look at activities at the state level

3. look at common law and british tradition

ii. Note 1-3 above are not supportive of judicial review

f. democratic will argument:

i. will of majority should be the law (so legislature, not the court, should have the final say)


g. argument against democractic will:

i. could say that court is so weak that it is likely to act only when it has significant popular support, even if not a majority

ii. framers didn’t feel that majority were the best group to make decisions, felt that majority might run amuck (therefore things like elector college system?)

ii. Two main points about judicial review

1. judicial review should be understood as a question of results; does it provide good results?

2. judicial review is not all or nothing approach; question is to what extent should it defer to other institutional actors

b. The Authority of Supreme Court Decisions

i. Narrow view:

1. Court is only final arbiter for those facts

a. Example:  Madison would not have had to deliver the other commissions because they were not part of the dispute

ii. Expansive view:

1. Court’s decision becomes the law of the land; becomes a principle used to justify the decision

a. Examples:

i. Madison would have had to deliver all the commissions, not just Marbury’s

ii. decision in Brown v. Board Ed. Applied to all other boards of education across the country, not just one; prevents citizens from having to bring separate suit for each one

iii. Cooper v. Aaron case

2. this position of the court crystallized in Cooper v. Aaron

3. Arguments against expansive view:

a. Lincoln letter:  political actors need a way to bring about change or way to have court revisit the issue

b. Andrew Jackson’s letter:  Jackson vetoed a congressional bill about incorporating a bank; Jackson has right to veto it on basis that he as the executive thinks it is unconstitutional even though court said it was constitutional

c. Pardon letter:  president can pardon people for whatever reason they like; even if it’s not for a constitutional reason

iii. Ways to change a court decision:

1. Amendment: very difficult to do

2. Court packing:  politically difficult

3. Slightly change the legislation: may eventually be overturned but will probably take years to get to supreme court again

4. Resubmit the idea:  court might reverse itself but not likely

5. Jurisdiction stripping:  establish a law where supreme court jurisdiction no longer extends to the area that congress wants to deal with

a. this technique is not unlimited, however; e.g. could not take away standing and say that African Americans couldn’t bring equal protection claims in federal courts because that would violate the equal protection clause

III. Federalism

a. Federalism Issues and the Role of the Judiciary

i. Enumerated Powers and the Necessary and Proper Clause

1. Federal government (all 3 branches) can only assert those powers specifically granted by the US constitution

2. 2 views on the constitution:

a. constitution is a compact between the states and so there should be a very limited role for federal government

b. constitution is by “We the People”, not by states;

3. Doctrine of Implied powers

a. Idea is that every enumerated power has implied power to do things to carry out that power; would be impossible to list every possible necessary power

i. Two ways to see this claim

1. “original intent” - ? need to ask K about this

2. “political deliberation” – will of the people claim - ?

ii. Examples:

1. “power to establish post offices and post roads” has been interpreted to include prohibition on mail theft

2. power to incorporate a national bank can be implied from other powers such as to raise revenue (mculloch v. Maryland).

b. “Necessary and Proper” clause:

i. Two ways to define the word “necessary”

1. necessary = absolutely necessary (this view was rejected by court in Mculloch case)

2. only need a rational link between what you want to do and an enumerated power

ii. 3 part test from Mculloch:

1. end must be legitimate

2. means plainly adapted to the end

3. not constitutionally prohibited

ii. Constitutional theories of federalism

1. 2 theories of where constitution derives its power

a. constitution derives its power directly from the people (“We the People”); this was the majority view in US Term limits case

i. conclusion is that states cannot override constitutional provisions because direct will of the people is more important than direct will of the states

ii. Big bang theory:  issues relating to federal officials didn’t exist prior to creation of federal government so there are no pre-existing state rights  with regards to them

iii. Counter argument to direct power is that senators were initially elected by the states, not directly by the people;

b. constitution derives its power from the will of the states, not the consent of “the undifferentiated people of the nation as a whole.”

i. Minority view in US Term limits

ii. Similar to view of Articles of Confederation

2. SC court polices the states - why not let congress do it?

a. Argument for:

i. Senators and representatives are elected officials and so are directly responsive to their constituencies (sufficient political safeguard arguments)

b. Argument against:

i. States have regional differences and so a nationwide policy might not reflect regional preferences (tyranny of the majority argument)

ii. Need states as laboratories for dealing with socical problems

iii. Competition among states for citizens and money leads to better governance

3. Problem solving

a. State model:

i. Start off with presumption that states can do what they like (10th amendment)

ii. Then look to see if there are reasons why it might be pre-empted (does it fall under one of the enumerated congressional powers)

b. Nationalist model:

i. constitution would have to delegate the responsibility to the states for the states to be able to do anything

b. Legislative Powers – The Commerce Clause

i. The Rise and Fall of Judicially Enforceable Commerce Clause Constraints- From 1824 to the New Deal and beyond

1. Test (not clear from notes if this is correct formulation of test– need to ask K):

a. Does the statute fall directly under interstate commerce

i. If so then don’t have to ask about means-end because court will not look into congressional motive

b. If regulation doesn’t fall directly under interstate commerce then have to fulfill some conditions before it will be upheld (Note that between 1937 until 1990s no federal statute were found to have failed to meet commerce clause test)

i. Tests:

1. “Substantial Relationship” test (Shreveport rate case, 1914):  regulation OK as long as the regulated activity has a substantial economic effect on interstate commerce; court will look not only into facts but also the practical effects that the legislation would have

2. “Direct v. Indirect” test (Carter v. Coal, 1936); there must be a direct logical connection between the regulation and interstate commerce; e.g. regulation of workers’ conditions in coal production not direct enough even though coal sold nationally (court made distinction between manufacturing and production); e.g. if you have problems between managers and employees this will interrupt interstate commerce so need government to provide legal framework(?from notes, need to ask K)

3. Substantial Effect” test (Darby, 1941); look at the activity empirically to see if the activity makes a difference; national market argument, unfair practices give state unfair advantage argument); e.g. regulating workers’ conditions OK if the goods go into interstate commerce

4. “Aggregate Effect” test (Wickard v. Filburn, 1942); congress may regulate not only acts which taken alone would have a substantial economic effect on interstate commerce, but also an entire class of acts if the class has a substantial effect on interstate commerce; e.g. regulation of growing of wheat for personal use OK because the aggregate effect is to decrease overall demand for wheat on the market

2. Example #1:  congress has authority to issue federal ferrying license (and therefore an “exclusive” ferrying license issued by NY is invalid) because it involves commercial activities crossing state borders and therefore falls under “commerce”- only need to look at first part of  the basic test (Gibbons v. Ogden)

a. Note:  this case demonstrates that court won’t look into: 

i. purpose of the regulation

ii. whether or not the regulation will act as a prohibition or not

3. Example #2:  sugar company started acquiring competitors to become a near monopoly.  Court says that congress cannot regulate the sugar company because it does not fall under the commerce as an enumerated power because “manufacture” of sugar only indirectly affects commerce; if manufacture had a direct affect on commerce then regulation would have been OK.  (E.C. Knight v. US)

4. Example #3:  federal statute prohibited interstate transport of lottery tickets across state lines; Court upholds the statute (Lottery cases)

a. Note:  if the statute had prohibited the sale of lottery tickets then this probably would not have been deemed to fall under an enumerated power

5. Example #4:  Court struck down a federal statute which prohibited the interstate transport of articles produced by companies which employed children younger than certain ages or under certain conditions; this case is different from lottery tickets in that lottery tickets are “evil” [and so should be prohibited] and the clothing articles in Hammer are harmless[K says this is not a very convincing distinction made by the court].   (Hammer v. Dagenhart)

a. Note:  this case was later overturned by Darby

b. Could have a justification for congress prohibiting the child labor on grounds other than lottery tickets are evil:  could say that child labor provides unfair advantage (in sense of interstate commerce)to those states that allow it – this would be a good argument if you think that Darby’s relation to interstate commerce is not strong enough;

6. Example #5:  Court upheld a federal wage and labor conditions law that applied to timber that was produced in state and shipped interstate.  The Manufacture was purely intrastate but the product shipped interstate.  (US v. Darby)

a. Note:  motivation for legislation doesn’t matter as long as it falls under commerce clause

ii. The Commerce Clause Revival since the Mid Nineties

1. Modern Test:

a. Regulation will satisfy commerce clause test if it meets any of the following:

i. Regulates a channel of interstate commerce (e.g. highway)

ii. Regulates an instrumentality of interstate commerce (e.g. trucks)

iii. Regulates articles that move in interstate commerce

iv. If the activity has a “substantial effect” on interstate commerce;

v. commercial activity = substantial effect

1. if non-commercial then there is a strong presumption against the regulation meeting the standard; must be an obvious connection to interstate commerce (e.g. must be a “jurisdictional hook” or congressional findings showing a connection)(? – need to ask about this)

a. e.g. in Lopez could have shown that guns at schools decrease national GDP by a certain amount

b. But congressional findings by themselves are not enough (US v. Morrison)

b. Example #1:

i. Federal law prohibits gun possession in a school zone; Court strikes down the statute because the link between guns and school and effect on interstate commerce is not substantial enough (US v. Lopez)

c. Example #2:

i. Federal statute opened federal court to women who were victims of violent crimes.  Court struck down the statute because violent crimes against women aren’t economic activity and they don’t have a substantial effect on interstate commerce; congressional findings of effect on interstate commerce not enough (US v. Morrison)

d. Competing visions of the test (mainly O’Connor and Breyer):

i. Thomas – get rid of substantial effect prong because constitution went through trouble of listing all the powers (bankruptcy, army, etc.) and these would be unnecessary if commerce clause was meant to be expansive enough to include them anyway

ii. O’Connor – should have substantial effect prong and should be able to link it to the national economy but there should be some limits

iii. Breyer – we have to work around the wording of the constitution because things have changed; there are really no important principles at stake here so court should stay out of it and let congress decide (i.e. let the statutes stand)

2. Other arguments that feds should have a stronger commerce power:

a. States are evil and parochial

b. Other avenues of enforcement of important principles (13, 14, 15th amendment) have been cut off (i.e. other avenues to regulate have been cut off)

c. 10th and 11th Amendment Restrictions on Federal Legislative Powers

i. States Rights as Immunity from federal legislation – From National League of Cities to Garcia

1. Garcia:  regulation of pay under Fair Labor Standards Act held to apply to states just as it does to other employers; case turned on whether municipally owned and operated mass transit was a traditional government function

2. Significance of Garcia (which overruled National League):  if the regulation would be valid if applied to a private party then it is also valid if it is applied to the state

3. Should Congress be able to apply generally valid regulations to the states themselves?

a. Argument for:

i. Other wage regulations OK under commerce clause and too hard to draw the line in deciding what is a traditional government function (and thus should be protected against the regulation) and what is not

b. Argument against:

i. Burden would be too much and would interfere with state functions such as police protection

ii. If allowed congress to regulate the states then there would be nothing left for the states to decide for themselves (autonomy argument)

iii. Justification for application of commerce clause because of a national market doesn’t apply to states because there is not a national market for police protection, fire protection, etc.

ii. States Rights as a prohibition on Federal Commandeering – US v. New York and Printz

1. Legislative commandeering:  congress cannot force state legislatures to pass regulations that congress wants them to pass (has to offer them a carrot such as federal funding)

a. Example:  federal statute held states liable for tort damages (states would have to indemnify waste producers under a “take title” provision) of radioactive waste generators in their states unless states passed legislation to solve the waste problem.  Court struck down the statute because it forced states to pass legislation that congress couldn’t pass otherwise (changed the status quo and forced states to pass legislation to restore the status quo) [New York v. US]

i. Arguments that take title provision is not within Congress’ power:

1. take title provision doesn’t fall within an enumerated power

2. take title provision infringes on core state sovereignty reserved by the 10th amendment

ii. Blame-shifting:  Note one objection to the federal statute is that congress could regulate this directly under commerce clause so really it forces the states to suffer the political fallout for unpopular congressional regulations

iii. Congress could regulate directly by not allowing interstate passage of any waste (so all radioactive waste has to stay within the state that produced it) but that would transfer political heat to congress

2. Executive commandeering:  federal government cannot compel the states to enact or administer a federal regulatory program [Scalia in Printz v. US]

a. Example:  Brady Bill provision said that local law enforcement officials had to conduct background checks on gun purchases over a phase in period.  Court struck down the statute as executive commandeering.

i. Note again that states will have to take the political heat for the increase in taxes necessary to pay for the extra work down by the local law enforcement officials

3. International commandeering: 

a. In international setting the roles are reversed and federal government is the one being commandeered.   This is because there is no judicial oversight of international legislation so federal government has to legislate and execute the international policies.

4. Judicial Commandeering:  unlike federal or executive branches, the state judiciaries can be commandeered to enforce federal law; K didn’t give answer;

iii. State and Sovereign Immunity

1. 11th amendment has two rules:

a. private citizen from state B cannot sue state A in federal court

b. private citizen from state A cannot sue State A in federal court

2. 11th amendment prohibitions even apply to federal question cases

3. Most important exception is that states can consent to be sued in federal court

a. Feds can make fed funds contingent upon consent to be sued in fed court

4. Argument against 11th amendment rules:

a. Goes against the traditional holding that where there is a right there is a remedy; here there can be a federal statute giving private citizens rights against the states but no way to enforce that right (unless the state consents)

b. No good reasons for this – court has just interpreted this amendment as a core constitutional limitation on federal judicial power

THE STRUCTURE OF GOVERNMENT: Federalism

IV. Other Legislative Powers

a. The Taxing power

i. Narrow interpretation of tax power – looks at congressional motive

1. Facts:  congress imposed 10% tax on all profits for companies that utilized child labor in a way violating the statute (child tax case)

2. Two part test for validity of the tax:

a. Is the tax a disguised regulation?

i. If no then valid

b. If tax is a disguised regulation then check to see if the same regulation could be sustained through another enumerated power (e.g. commerce power)

ii. Broad interpretation of tax power – doesn’t look at motive

1. Facts:  congress imposed tax on intrastate gambling activities (Kahriger case)

2. Test:  Does the tax raise revenue?  if so then motive irrelevant (analogous to Darby which said that motive is irrelevant as long as the regulation is supported directly by the commerce clause)

b. The Spending power

i. Madison view:  spending power is limited by areas that congress could directly regulate under other enumerated powers

ii. Hamilton view:  would be redundant to list it separately so spending can be done for the general welfare (although there are some constraints, but it clearly goes beyond other enumerated powers)

iii. Court’s test in Butler case (Madison view):

1. Facts:  feds taxed agriculture processing and paid the farmers to not grow crops

a. Spending is limited by areas that congress could directly regulate under enumerated powers

b. Look to see if the regulation is a means to achieve unconstitutional ends; so if regulating agriculture is unconstitutional (agriculture not thought of as commerce at that time?) then it is prohibited under tax and spend

iv. Court’s test in South Dakota v. Dole (Hamilton view):

1. Facts:  Congress was going to withhold 5% of highway funds if states didn’t comply with fed regulations

2. Court’s test:

a. Exercise of spending power must be in pursuit of general welfare

b. Conditions must be very clear (not important for practical purposes in limiting feds, state must know what the options are)

c. Conditions imposed on giving the grants has to be related to the federal interest pursued (this is the main part of the test)

d. Must not be an independent bar under other constitutional provisions

3. 3 views on when it is OK for congress to use spending as regulation:

a. any conditions are OK

b. must be some sort of reasonable connection (Rhenquist)

c. must be a pretty close connection between the spending and conditions imposed (O’Connor)

v. South dakota test applied to lopez case:

1. under rhenquist could tie the gun prohibition to safety and would work; i.e. general funds for safety could be withheld until compliance with gun prohibition(?)

2. under O’Connor trying to tie the gun prohibition to general safety wouldn’t work; would have to tie funds to something specific, i.e. only funds used to employ security personnel at schools could be withheld if state doesn’t comply(? Need to ask K about this and rhenquist analysis)

vi. Can imagine spending programs including clause where state must include its consent to be sued in federal court (11th amendment)

c. War and Foreign Affairs

i. War Power (woods case)

1. court upheld federal act involving rent control after WWII

ii. Treaty Power

1. 3 views on treaty power

a. substance of treaty power is limited to what you could do with ordinary legislation (but procedurally different because requires ratification by 2/3 senate)

b. treaty power is its own independent power but has some limits

i. Can regulate hunting of birds in US under a treaty with Canada even though at the time regulation of the birds was impossible under other enumerated powers.  Missouri v. Holland (but now could be regulated under Commerce Power)

ii. Limits:

1. bill of rights and other constitutional provisions

2. may be some requirement that there is some national interest (e.g. regulating the birds in Missouri case might be dependent on birds actually being in US or market for bird meat, etc.)

c. treaty power is its own independent power and as long as you follow the procedures then there are no limits

V. Federal Limits on State Power

a. There are 3 kinds of limitations on state power:

i. specific constitutional provisions (e.g. art 1, sec 9 – states can’t impose export duties)

ii. grants to feds (e.g. more general constraints such as dormant commerce clause)

1. 3 views:

a. grant makes fed power exclusive

b. middle view:  certain things states are free to do and certain things are left to the feds – question is how do you draw the line

c. grant of power to fed government doesn’t have any implication on limitations to states (grant is neutral)

iii. pre-emption by congressional statutes

b. Dormant Commerce Clause

i. Intro on scope of dormant commerce clause:

1. 3 views:

a. there are no restrictions on states until congress preempts state legislation

b. middle of road view

c. once power is granted to feds then that power is exclusive; constitution divides world into two compartments, that in which congress has exclusive power and those in which states have exclusive power

2. middle view:  how to draw the line

a. base line on National v. local interest

i. idea is that feds don’t have an exclusive right to regulate interstate commerce and states don’t have a complete right to regulate commerce in areas where congress is silent

ii. disadvantages:

1. not easy to apply

2. can be arbitrary to decide what is local or national

3. doesn’t take into account impact on interstate commerce

iii. example:  state required boats to use local pilots if you wanted to use its waterways.  Court upheld the state regulation (Cooley case)

b. base line on direct v. indirect

i. disadvantages:

1. not easy to apply

3. Discrimination rules:

a. Cannot fascially discriminate - straightforward

b. Discriminatory intent – not allowed

c. Discriminatory effect - 

ii. Discriminatory Laws (Discriminatory Intent)

1. State regulations can’t “intentionally” discriminate against out of staters

2. idea is that feds want to prevent interstate rivalries and prevent taxes on out of staters who would be unrepresented in the passing of the tax

a. Example #1:  New York attempted to set minimum prices to be paid by New York milk dealers to New York milk producers.  The statute also prohibited retail sales in New York out of state milk, if the milk had been purchased at a lower price than the one set for purchases within New York.  Court struck the statute down because it effectively created a custom duty on other states’ goods (Baldwin v. GAF Seelig)

b. Hypo #1:  New York passes a sales tax on all milk.  This would be OK because it applies to everybody equally so wouldn’t put out of staters at a disadvantage.

c. Hypo#2:  New York gives a direct subsidy to New York milk producers to make them more competitive.  This would be OK because New Yorkers are absorbing the cost themselves.

d. Example #2:  NC passes law that says that all apples must bear US grading system or none at all.  Court struck the law down because there was substantial evidence that this would put Washington State apple growers at a disadvantage and that this effect was intentional (Hunt v. Washington Apple)

iii. Laws Unduly Burdening Interstate Commerce (Discriminatory Effect)

1. If the state law burdens out of staters more that doesn’t necessarily mean  that the state act is invalid

2. any regulation of the roads are likely to have an effect on out of staters

3. Approaches to discriminatory effect (from Kassel case – Iowa statute prohibiting 65 foot trucks is struck down; 4 members of court use balancing test and remainder decide based on whether discriminatory purpose exists)

a. Powell (plurality):  balancing test, give weight for safety purpose:  weigh the benefit to the state of the regulation against the burdens on interstate commerce; the higher the intent to discriminate the higher level of scrutiny by the court but doesn’t automatically knock statute down, intent is just one of the factors (look at legitimate state ends such as safety, etc.); 

i. Safety regs:  “strong presumption of validity” for safety regulations, but if safety is only marginally enhanced and interference with interstate commerce is substantial then statute will be struck down; in Kassel case there was no evidence of a safety benefit so the statute was struck down.

b. Brennan (concurrence):  balancing test, no weight for safety:  looks at intent; doesn’t matter if the regulation is for pure safety or pure economic reasons, the test is the same; test is that court should balance local benefits against burden on interstate commerce; in Kassel case the legislative intent was protectionist so it can be invalidated based on that alone;  

c. Rhenquist:  there is a presumption of validity for safety regulation; will only strike down the safety regulation if it is clearly a pretext or there is no real safety benefit – if there is a safety benefit then don’t need to balance with burden on interstate commerce (seems similar to Powell but goes further?)

iv. The Market Participant Exception

1. general rule:  where the state acts as a market participant, dormant commerce clause analysis will not be applied and the state may favor local citizens over out-of-state economic interests

a. Limit to market participation exception:

i. Where the state attempts to affect parties beyond those with whom it is contracting, the court may conclude that the regulatory consequences of the state’s action outweigh its “market participatory” consequences and dormant commerce clause analysis will apply

b. Example:  Alaska sells timber from state owned lands but the buyer is required to partially process the timber inside Alaska before exporting it.  Court struck down the law because Alaska is not a market participant in the timber processing business – it is only in the business of selling the raw timber (South Central Timber)

c. Congressional Actions:  Preemption and Consent

i. Preemption

1. Congress usually constructs statutes that leaves room for state control because feds usually don’t want to control the whole thing, they only want to control certain aspects;

2. Test for preemption:  there is a rebuttal presumption that control has been left to the states; only imply preemption if congress had made that clear that is what they wanted – at least where states are acting in areas of traditional state regulatory authority

3. Factors to look at:

a. subject matter traditionally left to states is less likely to be subject to preemption

b. subject matter traditionally occupied by feds is more likely to be left to fed control (bankruptcy, patent, immigration, etc.)

i. Example:  Massachusetts passes a law prohibiting trade with Burma and there is also a federal statute against trade with Burma.  Easy  to comply with both statutes.  Court struck down the MA statute because it interferes with congressional intent of delegating the control of economic sanctions to a single actor – the US president (Crosby v. National)

c. federal agencies: may or may not be an attempt to preempt the field – court will look at the purpose of the agency

i. example:  Nuclear Regulatory Commission is a fed agency designed to assure nuclear safety.  California passes a law prohibiting construction of nuclear facilities if  certain economic based criteria are not met.  Held, the law is not preempted because the purposes of the two don’t conflict – the California law doesn’t interfere with the safety aspects of nuclear energy (Pacific Gas case)

ii. Consent

1. Congress can authorize state behavior that would otherwise violate the commerce clause

a. Example:  Congressional Act specifically reserves regulation of insurance to the states and specifically says no fed statute shall be construed to invalidate a state insurance tax.  SC passes such a tax that discriminates against out of staters.  Court upholds the tax as valid because even though the state is discriminatory congress can discriminate against interstate commerce so there is no reason why such discrimination cannot be conducted by congress in conjunction with the states (Prudential Insurance)

2. But Congress must make unmistakably clear its unambiguous intent to give consent

3. Arguments for consent


a. Congress could have done this directly under commerce clause so it is OK if they authorize states to do it;

b. Court will give deference to judgments made by congress; so idea is that not that commerce clause doesn’t apply, but that court just won’t enforce it in those cases where congress has acted specifically

SEPARATION OF POWERS

VI. Separation of Powers

a. Executive Encroachment on Legislative Powers

i. Different perspectives on limits of presidential power

1. president must be acting under congressional authority or constitutional authority (“messenger boy” approach)[J. Black]

a. in order to prevent a strike at a steel mill during the Korean war the president would need authorization from congress since his presidential powers (commander in chief, enforcement of laws, and “executive powers”) don’t reach this type of action on their own. (Youngstown case)

2. president needs flexibility to act quickly and don’t need clear connection between congressional authority or constitutional authority (“imperial presidency” approach)[J.Vinson]

a. example:  could link president’s preventing a strike at a steel mill during Korean War to congress’ funding of the war and president’s needing to prevent the strike to support the war; or if president had built in a sunset clause to his action basing continued action on congressional approval then it would be more acceptable (Youngstown case)

3. first look to specific authorization, but if find none then look to history and tradition – see if presidents have done similar things in the past; e.g. Roosevelt had seized an aviation plant and a coal mine during his presidency[J.Frankfurter]

4. divide into three categories [J.Jackson approach]

a. clear congressional endorsement – then president can act

b. explicit congressional prohibition – then president cannot act

c. “twilight zone” (neither specific endorsement or prohibition) – then look to see if president’s actions are consistent with history and tradition and also underlying congressional policies 

5. Example #1:

a. During Korean War president Truman sought to avert a strike at the nation’s steel mills so he issued an executive order seizing the mills.  Court struck down the order – reasons based on plurality opinions above, president not authorized by congress, the constitution and history and tradition do not show that presidents have consistently had this authority in the past.

6. Example #2:  

a. Carter froze Iranian assets in US pursuant to a fed statute; as part of the negotiating the release of the hostages the president made an agreement to settle all claims and litigation through arbitration by way of an executive agreement;  freezing the funds were straightforward because there was a congressional act authorizing that action but suspending the claims was not.  Court upheld the action as within the president’s constitutional authority because there was a long history of similar congressional acquiescence in the past.  (Dames & Moore v. Reagan)

7. Today court mainly uses Frankfurter and Jackson approach

b. Congressional Encroachment on Executive Powers

i. Legislative and executive actions

1. Legislative veto is unconstitutional

a. legislative veto = congress delegates certain powers to executive branch but retains power to reverse the executive branch if congress decides it doesn’t like the decisions the executive branch made with regard to the delegated authority.  The veto comes in the form of a resolution by one or both houses and is not presented to the president.

b. Argument against legislative veto (formalist argument):

i. Constitution says that resolutions by congress require votes by both houses followed by presidential signature.  Legislative veto doesn’t follow the proper constitutional procedures so it can’t be sustained.

ii. Example:  congress passed a statute delegating decision making authority to the attorney general regarding which immigrants should be deported when their visas expire and which ones can stay based on a hardship provision.  AG lets a student, Chadha, stay on hardship but congress invokes legislative veto and based on vote by only the house of representatives it revokes the suspension on Chadha’s deportation.  Court struck down the veto provision because the revoking of the deportation suspension is a “legislative act” and therefore requires bicameral vote and presentment to the president (INS v. Chadha)

c. Argument for legislative veto (functionalist): 

i. There are more checks and balances by letting congress reserve some control rather than delegating all the power to the executive branch.

1. Counter argument is that this doesn’t give congress an incentive to draft laws with enough guidance.  Extreme argument is that congress delegates all power to the president then just jumps in every once in a while to reverse.

2. Line item veto is unconstitutional

a. congressional act allowed president to amend or partially repeal budgetary acts; idea is that if president strikes out a certain provision then congress would have to pass that provision in a new bill by the usual bicameral vote and presidential signature – since this would be vetoed by president for same reason he struck it out in the first place then congress would have to get 2/3 vote in each house; idea is to cut down on pork spending (Clinton v. City of NY)

b. Formalist argument (Stevens): have to follow the constitutional procedures; a constitutional amendment would be required to give the president line item veto power

c. Functionalist argument (Breyer):  in the early days the appropriation bills were small and submitted individually so the president in fact could veto the provisions individually.  Now that the appropriation bills are large and have many bills in one allowing the line item veto is simply restoring the original equilibrium.

ii. Congressional control over executive officers

1. congress cannot remove executive officers for cause

a. Example:  congressional act called for across the board budget cuts if deficit reduction targets were not met.  Comptroller got to decide where to make the cuts.  The act reserved the right to fire the comptroller only by a joint resolution of congress or by impeachment.  Court struck down the removal provisions because “congress cannot reserve for itself the power of removal of an officer charged with the execution of the laws except by impeachment.” (Bowsher v. Synar)

i. Functionalist would counter argue that this isn’t much of an encroachment since joint resolution of congress is very difficult to achieve

2. Congress can decide if president or judiciary gets to appoint junior officers of executive branch (but congress itself cannot appoint junior officers)(see article 2, sec 2, cl 2)

a. Example:  independent counsel statute (Ethics in Government Act) allowed judicial branch and not executive branch to appoint an independent counsel (Morrison v. Olson)

i. Functionalist argument (Rhenquist, majority):  use balancing test:  look at degree to which the executive gives up control versus want to make sure that the investigation can be done in an impartial manner (here the independent counsel only had limited duties, did not make policy, and had a limited term)

ii. Formalist argument (Scalia, dissent):  if it is an executive function then executive should get to appoint so only question is whether this is exclusively an executive function.

iii. In the end independent counsel statute was allowed to lapse because the prosecutor turned out not to be very “independent”

c. Executive Privileges and Immunities

i. Text of constitution:  gives immunity to congress but silent as to the president – this could be interpreted to mean he shouldn’t get any

ii. Three different claims as basis for executive privilege

1. president is above the law; he is chief law enforcement officer and doesn’t have to enforce law on himself

2. there are some executive privileges and there is no space for judiciary to review what these limits are – it is up to president to decide

3. court should decide on case by case basis if there is an executive privilege that might apply

iii. Policy reasons for having an executive privilege

1. need to consider national security – so may not want president to have to hand over sensitive information

2. president needs his advisors to give him candid advice unhindered by fears of having these confidences made public later

3. president is already held accountable in the political process and can be impeached if he engages in wrongdoing

iv. Implied rule:  there is a qualified privilege for acts relating to the presidents official duties; the scope of the privilege is not clear; could be restricted to military, diplomatic, and national security secrets in criminal trials – but maybe also applies to civil, etc.; there is not even a qualified immunity for acts not relating to official duties

v. Example:

1. Tapes made by president Nixon where subpoened relating to a criminal investigation.  Nixon claimed that his tapes were protected by an executive privilege.  Court held that must balance needs of judicial process versus presidential privilege.  There is no absolute privilege.  Court left open possibility that military, diplomatic, or sensitive national security secrets outweigh judicial needs in other cases.( US v. Nixon)

2. Former employee filed civil suit against president Clinton alleging illegal sexual advances.  Clinton claimed a “temporary immunity” while he was in office.  Court rejected temporary immunity argument because the immunity is for the purpose of allowing the president to make official decisions without fear of that they will give rise to personal liability.  (Clinton v. Jones)

vi. Impeachment

1. two impeachments (Nixon and Clinton) but no convictions so has not historically been very important

2. possible definitions of “high crimes”:

a. high crimes only relates to activities related to his public function – so couldn’t be impeached for murder

b. should have no standard – just let congress decide based on political factors

i. counter is then congress could impeach the president for purely political reasons and not for true wrongdoing; would be like a vote of no confidence in a European parliamentary system

1. counter is that congress is held accountable and so if they wrongly impeach Clinton then they can be voted out of office

VII. ? (Not in syllabus)

INDIVIDUAL RIGHTS

VIII. To Whom does the Bill of Rights Apply?

a. Arguments not to have a Bill of Rights

i. Might deny citizens rights that are not included

1. counter argument is that 9th amendment was supposed to protect against this:  “The enumeration in the Constitution, of certain rights, shall not be construed to deny or disparage others retained by the people.”

ii. Bill of rights aren’t necessary if you set up the political process correctly

iii. Rights are purely metaphysical entities

b. Arguments in favor of having a bill of rights

i. Protection of minorities

1. original idea was that minorities need protection against other individuals – idea of protection against governments was secondary

c. States and the “incorporation” dispute

i. From Pre Civil War Situation to the Slaughter House Cases

1. Rule:  Bill of rights act as a restriction on the powers of the federal government and don’t apply to the states

2. arguments against the rule:

a. some amendments (e.g. 1st) seem like they are limited to the federal government so could argue that those that don’t contain any restrictions should apply to everybody.

b. If they had intended it to apply only to feds then they would have made that more explicit in the text

3. arguments in favor of the rule:

a. states were required to ratify the amendments and they wouldn’t have wanted restraints on themselves

4. Example:  Dock owner sued the city under the 5th amendment after the city diverted flow of water and made his dock unusable.  Court held for city because 5th amendment doesn’t apply to states. (Barron v. Baltimore)

5. Example:  Louisiana granted a monopoly to a slaughterhouse.  Butchers not included in the monopoly (claiming that they were being deprived of an opportunity to practice their trade) challenged the monopoly based in part on privileges and immunities clause of 14th amendment.  Court interpreted 14th amendment narrowly (basically a protection against slavery) so only provides very limited restrictions on state power (slaughter house cases)

6. Argument for narrow view of 13th, 14th, and 15th amendments:

a. If had a broad view would radically change the relationship between feds and states

b. 13th, 14th, and 15th amendments were only supposed to be about slavery

7. Argument for broad view of 13th, 14th, and 15th amendments:

a. Nothing in the text talks about race or slaves; if they had wanted to limit this to race and slavery then they could have addressed that directly;

b. might say that states screwed up badly before and so now they cannot be trusted generally and this whole area should be under control of feds

ii. Beyond the Slaughter House Cases

1. Possible arguments to choose which rights (“liberties”) are fundamental and thus should be binding upon the states:

a. Natural justice definition of fairness

b. Framers outlined what is meant by fundamental fairness in the bill of rights

c. State procedures in place at a particular time are those that qualify as due process

i. Example:  Louisiana constitution limited jury trials in criminal cases to those in which there was capital punishment or hard labor as penalties; Duncan was charged with battery and was denied a jury trial; Court held that jury trial should be guaranteed under 14th amendment as it would be under 6th amendment – reason is because that is the virtual ubiquitous practice of the other states and the feds so it is fundamental to our judicial system;  (Duncan v. Louisiana)

d. Look at history; what kind of procedural guarantees were present at common law and tradition

e. Could use full incorporation argument

i. Counter is that they would have just explicitly said that the bill of rights is incorporated

2. Today general rule is that all but a few minor provisions apply (e.g. bail); process is called “selective interpretation”

3. Selective interpretation works through either due process clause or privileges and immunities clause – not always clear which one is doing the work

d. Individuals and the ‘state action’ requirement

i. Rule:  14th amendment doesn’t reach private acts of discrimination but encompasses only state action which is discriminatory

ii. Rule: while 14th amendment doesn’t generally apply to individuals, it does apply when the private individual is acting more like a state than a private actor

iii. Introduction:  Rights, State actions and Public Functions (K says he doubts this public function doctrine will be revisited)

1. Example:  

a. A town is owned entirely by a shipbuilding company.  A Jehovah’s witness is distributing religious material in the town and is criminally charged with trespassing.  Court held that since the town has all the functions of a regular town and is open to outsiders then it will be treated like a regular town.  Thus the private town is restricted in the same ways a state would be so that the Jehova’s witness’s activities are protected by the first amendment (Marsh v. Alabama)

iv. From Public Functions to State Enmeshment (K says this area is more “promising” than public function)

1. Examples:

a. Court enforcement of contracts: there was a covenant on properties in a neighborhood against selling to minorities; court said that this is a contract between private individuals but it has to be enforced by the state so the state is involved  (Shelley v. Kramer)

i. if you take seriously that state is an actor in all transactions and state courts are bound by 14th amendment then state action doctrine would always apply 

b. Government as landlord:  parking lot was government owned and rented out space to a coffee shop that was privately owned; coffee shop discriminated against minorities; court held that private coffee shop was a state actor because of its close connection with the state (Burton v. Wilmington)  

i. Relationships between coffee shop and government:

1. Landlord/tenant

2. Building was used for public purposes

3. State was benefiting economically from the discrimination because of the rents;

ii. Concurrence makes point that this creates a presumption of approval in the absence of disapproval; so anything not prohibited by the state could then be considered authorized; therefore state would always be part of the transaction and so the transaction would be covered under 14th amendment

c. Public utilities:  Electric company, which had been granted a monopoly by the state, terminated plaintiff’s electric service without notice; plaintiff’s case not based on discrimination; court said that action by electric company does not constitute state action (Jackson v. Metropolitan Electric)

i. K says but if the electric company had simply said they were not going to serve customers who were minorities then the outcome would have been different, so something is hidden here – court may want to confine itself to discrimination and let states take care of traditional areas like contracts, torts, etc.

ii. Note:  in some ways this cuts back on public function doctrine because a monopoly utility is as close to a public function as you can get;

d. Civil courts:  private litigant used preemptory challenges to exclude jurors based on race; court held that state action doctrine applied; dissent said that state actors weren’t involved in the policy making here so state action doctrine shouldn’t apply (Edmonson v. Leesville concrete)

e. State services:  couple divorces and awards custody of child to the father, father abuses the child; case worker documents the abuse; child ends up mentally handicapped as a result of the abuse; mother and child bring claim against the state saying that state violated child’s rights; court held that 14th amendment doesn’t impose duty on states to affirmatively act to provide protection (purpose of 14th amendment is to protect people from the states, not people from other people) (Deshaney v. Winnebago)

IX. Substantive Due Process

a. Due Process and Economic Regulation

i. Early approach: 

1. Lochner case

a. Facts:  state law regulated working conditions for bakery workers; Court struck down the statute – said there was a right to freedom of contract that state had abridged;

i. Standard of review was mid-level (“reasonableness standard”, aka “reasonable basis doctrine”) which is more than rational basis but less than strict scrutiny

ii. Steps in court’s argument:

1. what is meant by liberty

a. most expansive view is that liberty is to do whatever you choose to do

b. narrowest view is that it is freedom of bodily person and freedom to move from one place to another

c. middle view is that liberty is orderly pursuit of happiness by free men; basic choices of marriage, who I work with, freedom of contract, etc

2. due process

3. level of scrutiny

iii. Court basically treated freedom of contract as a fundamental liberty and then said that there was not a close enough relationship between the state interest in public health and the actual conditions of the bakers

ii. Modern economic regulation:

1. “still think of liberty as more than the narrowest view above” (freedom of body and movement); 

2. level of scrutiny by court is now rational basis test, which is minimal;

3. so constitution places significant restraints on legislature but the constraints are not enforced under rational basis degree of scrutiny

4. Emanuel summary:

a. Court has almost entirely withdrawn from reviewing state legislative economic regulation for substantive due process violations

b. Court now uses “minimum rationality” standard

b. Substantive Due Process and Non-economic Liberties

i. Introduction

1. Griswold case:  Connecticut law made it a crime to counsel married persons on contraceptives; a doctor and the director of planned parenthood were convicted under the statute; court struck down the statute for reasons below:

2. Griswold approaches to protecting non-economic liberties

a. Penumbra:  other constitutional amendments (1st  -freedoms of speech and press; 4th – unreasonable searches; 3, 5, 9th also) create a fuzzy sphere of privacy (the penumbra) that encompasses certain liberties;

b. Only “fundamental” liberties should be protected;

i. Determine which liberties are fundamental by looking at tradition (marital privacy, marriage, raise family)

3. Post Griswold approach:

a. Two tier approach:

i. A liberty is either “fundamental” or non-fundamental

1. which are fundamental?  Different approaches:

a. penumbra approach

b. text and structure of constitution

c. history and tradition

d. natural rights/ordered liberty/moral reasoning standard

ii. if it is a fundamental liberty then there must be a compelling state interest with a narrowly tailored means

1. tests:

a. ends test (is the ends proper?)

b. alternative means test:  is there an alternate means that is better?  Is the current means over or under inclusive?

i. E.g. under alternate means test in Griswold could have just exempted married couples

c. Balancing test (aka “undue burdens test” or “proportionality test”):  look to see what the overlying purpose is to see if privacy concerns outweigh these; might ask in Griswold what is added by including married couples versus the intrusion into their privacy in marriage

ii. Abortion

1. Abortion is a fundamental right (woman’s power to choose is the fundamental part) but state also has a compelling interest in protecting 1) the health of the mother and 2) unborn fetus

a. Result in Roe v. Wade (Texas legislature banned almost all abortions):

i. 1st trimester:  Absolute right to abortion during 1st trimester;

ii. 2nd Trimester: some state regulation is OK in order to protect the health of the mother; state cannot regulate based on concern for fetus; but state cannot prohibit abortion during second trimester

iii. 3rd trimester:  state can completely prohibit abortions based on concern for fetus

iv. viability was used as a crucial cutoff because historically fetuses haven’t been considered persons so there is no compelling state interest in protecting them

b. Result in Planned Parenthood v. Casey

i. Facts:  Penn statute placed significant restrictions on abortion, e.g. 24 hour waiting period and requirement of spousal notification 

ii. State can regulate but not prohibit abortion until viability occurs

1. state regulations cannot create an “undue burden” on the woman in obtaining an abortion

a. “undue burden” = “substantial obstacle”

b. Not undue burden:

i. Informed consent

ii. 24 hour waiting period

iii. parental consent for minors with couple of exceptions (judicial bypass and emancipated minors)

c. found to be an undue burden:

i. spouse notification

ii. spouse consent

iii. Once viability occurs then state can completely prohibit abortion

c. Possible reasons why roe v. wade not overruled in casey

i. Factors to consider:

1. is old rule unworkable

2. “legitimate expectation” in the old rule (reliance interest?)

3. legitimacy of court – might be undermined if court flip flops based on public pressure or with appointment of new justice

4. there is no public consensus – court should be cautious – should let a constitutional amendment pass to solve the issue (different than civil rights issues which eventually developed a consensus)

2. General rule:  the states can partially regulate abortion prior to viability because although abortion is a fundamental liberty interest, the state has a quasi-compelling interest in the health of the mother and the life of the fetus; the states can freely regulate abortion after viability because although abortion is a fundamental liberty interest, the state has a compelling state interest in the life of the fetus after viability

iii. Family Relationships and Sexuality

1. Homosexual sodomy  (Bowers v. Hardwick)

a. Apply the two tier test:

i. Factors to consider if it is a fundamental right

1. Precedent? No.  Other fundamental rights are about family, marriage, procreation;

2. History – goes against sodomy being a fundamental right

3. Moral claims – Blackmun:  it is fundamental in the sense that it is central to defining one’s identity

4. Textual arguments

ii. If not a fundamental right then still have to see if the state law is enough to satisfy rationality test

1. court says moral reason is enough to pass rationality test

iii. If it is a fundamental right then see if the state concerns are compelling and statute narrowly tailored

1. Public health – no evidence to support this argument

2. Morality – maybe if prohibition was against public acts, but not enough for private ones

b. General rule:  states can freely regulate homosexual sodomy because homosexual sodomy is not a fundamental liberty interest and the states’ interest in morality outweighs the individuals non-fundamental liberty interest in that activity

i. Note:  K says that he thinks that this holding will be reversed if it is ever taken up again by the supreme court

iv. Death

1. Refusal of medical treatment by an incompetent (Cruzan case)

a. Two tiered test:

i. Is refusal of medical treatment a fundamental liberty interest?

1. yes

ii. Is there a compelling state interest?

1. yes – for incompetent individuals

2. no – for competent individuals

iii. Is the law narrowly tailored?

1. “clear and convincing evidence” standard of proof by Missouri court is OK

b. General rule:  states can infringe on one’s liberty interest in refusal of medical treatment to the extent that it can impose procedural safeguards in the case of incompetents

2. Physician assisted suicide

a. Two tiered test:

i. Is physician assisted suicide a fundamental liberty interest?

1. no – history and current practice by state shows it is not “deeply rooted in American tradition”; 

a. Note: Rhenquist says new fundamental rights will have to meet the “deeply rooted in American tradition” standard

2. Note that this question could have been framed at a more specific level to make it more palatable, e.g., “is there a liberty interest in determining the time and manner of one’s death?”

ii. Is there a legitimate state interest?

1. yes – state has an interest in the preservation of human life

b. General rule:  states can freely regulate physician assisted suicide because physician assisted suicide  is not a fundamental liberty interest and the state has a strong interest in preserving human life (Washington v. Glucksberg)

X. Equal Protection

a. Introduction

i. State and federal actions:

1. Equal protection applies to both fed and state (+local) governments; fed through 5th amendment, state and local through 14th
ii. “facial”  v. “as applied”

1. should equal protection apply only to statutes that discriminated “on its face” or to statutes “ as applied” or both?

a. Arguments:

i. formalist:  shouldn’t look at the laws themselves, just makes sure they are applied equally

ii. textual: clause says “make or enforce” so you should apply equal protection to both the laws and enforcement

iii. textual: could argue that should just enforce equally and not look at the law

iv. historical:  at the very least the amendment was supposed to address substantive race issues so shouldn’t be limited to just enforcement

1. counter:  this could lead to problem of court becoming a super-legislature

v. should apply equal protection to the law itself because would have more just outcomes

1. counter: have super-legislature problem again

iii. limits on equal protection

1. originalist argument (bork):  

a. so even once you have accepted that there is some substantive content you would limit it to what the writers intended which was slavery and race (also you would interpret the precedent cases narrowly to limit them to their facts?)

b. ideally would be able to have a conversation with the original writers and find out what their consensus understanding was

i. but even if we knew what the original writers understanding of the substantive content was we might come to the opposite conclusion with regard to specific cases

iv. how to analyze equal protection cases

1. what is the type of classification?

a. Race, ethnicity

b. Gender

c. Economic

2. Suspectness factors:

a. Discrete and insular group

b. History of purposeful, unequal treatment

c. Relegated to a position of political powerlessness

3. which level of scrutiny to apply?

a. Race, ethnicity = strict scrutiny

b. Gender = mid

c. Economic = mere rationality

4. apply test:

a. strict scrutiny

i. test:

1. government objective must be “compelling”

2. means must be “necessary” to achieve the objective (no less offensive means must be possible?)

ii. burden of justification rests on the state

iii. justification must be genuine, not hypothesized or invented post hoc in response to litigation

iv. K: we have seen in practice that articulation of strict scrutiny doesn’t get you that far; two ways to see strict scrutiny; sometimes court sees strict scrutiny as 1 and sometimes sees it as 2:

1. when using strict scrutiny you are already presuming that the law is unconstitutional (“loading the dice”) and using strict scrutiny to look at it to see if the presumption can be rebutted

2. no presumption; just looking at the reasons that are out there;

b. mid scrutiny

i. test (i.e. “justification”):

1. government objective must be “important”

2. means must be “substantially related” to the objective

ii. burden of justification rests on the state

iii. justification must be genuine, not hypothesized or invented post hoc in response to litigation

iv. K says that in US v. Virginia the court relies heavily on the reasons and doesn’t actually go through the test step by step; therefore seems like the actual arguments are more important than the formal application of the test

c. mere rationality

i. test:

1. government objective must not be otherwise prohibited by the constitution

2. the means must have a “rational relationship” to the objective

ii. burden of persuasion rests on plaintiff

iii. justification can be hypothetical

5. actual motives v. hypothetical motives:

a. argument for insisting on actual motive:

i. if the statute is struck down based on actual motive then it is often the case that the legislature fails to go back to the possible legitimate motive and re-pass the legislation on that basis; so court’s decision may reveal that there is not a solid constituency for the legislation in the first place

1. this acts to protect minorities from being burdened; kind of like a procedural safeguard

v. over and under inclusiveness:

a. statutes usually make a distinction based on some TRAIT  (e.g. business owners v. non-business owners) in order to prevent some HARM  (e.g. distraction of drivers)

b. under inclusive:  the harm is caused by others who don’t have the trait as well as those who do have the trait; therefore the legislation burdens only a select group of those responsible for the harm

i. justification for upholding under inclusive laws:

1. legislature is permitted to solve problem “one step at a time”

a. counter argument:  need higher level of scrutiny because legislatures have an incentive to burden less politically powerful minorities rather than taking full political accountability for a measure which burdens all similarly situated people equally

c. over inclusive:  the legislation will put a burden on all of those who cause the harm but will also burden others who don’t cause the harm

i. in favor of upholding over inclusive laws:

1. no fear that minorities are bearing disproportionate burden;

ii. against upholding over-inclusive laws:

1. it is unfair to burden those who are not the cause of the harm

d. simultaneously over and under inclusive:  the legislation burdens some who don’t cause the harm while not burdening some who do cause the harm

i. example:  Korematsu case where all Japanese citizens and non-citzens were prohibited from being in certain areas in the west part of US whether suspected of planning sabotage against US or not; at the same time the law didn’t affect people of other nationalities (e.g. German descent) who could be equally likely of planning sabotage against US;

vi. rational basis

1. example (Railway Express v. New York) : NY ordinance said that third parties cannot advertise on vehicles (businesses could advertise on their own cars); idea is that it would be distracting to drivers if all the cars had advertising on them – so main concern of the legislation is safety; distinction is based on business owner or not business owner

a. classification = business owner v. non-business owner (economic)

b. scrutiny level:  economic based classification so level is mere rationality

c. test:

i. government objective =  safety = clearly legitimate

ii. means must be rationally related

1. arguments:

a. ordinance is not rationally related because there are lots of other distractions which the ordinance doesn’t deal with so it really doesn’t do much to improve safety

b. non-car advertising is also distracting so the business owner v. non-business owner distinction is arbitrary

c. Douglas:  there might be reasons (that we aren’t aware of) that might make the distinctions make sense

d. Jackson:  need to use more scrutiny because this only affects a small group and we need to be careful when we burden a small group – so argument is that under-inclusive laws need higher scrutiny

2. example (US Railroad Retirement v. Fritz):  Railroad benefits; workers would get railroad benefits and social security – this would bankrupt the railroad; congress passed law so that if rights haven’t vested then you are cut off; but also, of those whose rights had already vested some got to keep the benefits and some lost their rights; those who lost their rights were those who no longer worked on the railroads;  distinction is between two groups – one had vested rights and was still working for railroads, other had vested rights but were no longer working for railroads; question is whether this can stand up to rationality review;

a. classification = workers with vested rights no longer working for railroad  v. workers with vested rights still employed by railroad (economic)

b. scrutiny level:  economic based classification so level is mere rationality

c. test:  

i. government objective = prevent bankruptcy of retirement fund (phase out double benefit)  = legitimate 

ii. means must be rationally related:

1. arguments:

a. Rhenquist (majority):  in theory legislature “could have” thought that for reasons of equity that those who are still working on the railroad have a stronger interest

b. Brennan (dissent):  insists on looking at actual purpose – look into legislative history; Brennan wants to use higher level of scrutiny for the theoretical legislative purposes; if look into real reason find that the bill was drafted by the union and management (and congress didn’t look at the bill closely) and the interests of  those no longer working for the RR were not represented since the ex-RR-employees were no longer in the union; 

b. Suspect Classification I:  Race and Ethnicity

i. K notes that the pre-amendment constitution affirmatively supported slavery

1. contracts clause doesn’t apply to trade in persons(?)

a. exception to usual conflicts of law rule

i. e.g. if a slave runs away to a non-slave state the non-slave state can’t protect the slave with their anti-slavery laws – they have to give the slave up to the original owners

ii. which classifications are suspect?

1. originalist would argue that 14th amendment only protects classifications based on race

2. opposite would be to argue that have to look into the “spirit” of the amendments and that race, nationality and ethnicity should also be covered

a. example:  Strauder v. West Virgina:  WV law allowed for exclusion of blacks on juries and an all white jury convicted a black man of murder; court (dicta?) held that 14th amendment covers other classifications besides race but court didn’t spell them out since this case was only about race

3. example of race = suspect classification:

a. Korematsu v. US:  person of Japanese descent was convicted of violating a military order prohibiting such persons from being in certain areas of west coast; Court found that curtailing civil rights based on race is “suspect” but upheld the conviction anyway because there was a compelling need to prevent espionage and sabotage and there was no practical and sufficiently rapid way for the military to distinguish the loyal from the disloyal;

i. This decision has been heavily criticized – most commentators feel that even if the government objective was “compelling” the means didn’t meet the definition of “necessary”;

iii. Three types of racial classifications 

1. individual minorities being burdened; strong presumption or even a categorical presumption that the court will hold laws of this type in violation – but K says that depends on amount of burdening – laws that cause less burden like loyalty hearing less likely to be struck down than internment cases; K says formally Korematsu hasn’t been overruled, at least some people claim this;

2. burdens all groups equally but distinguishes between them; this is segregationist classification

3. reverse discrimination/affirmative action

iv. Racial classification that looks facially symmetric

1. example:  Virginia statute prohibits marriage between a white and a non-white.  The state rebuts an equal protection attack by contending that the statute applies “equally” to whites and blacks, since members are punished to the same degree; court held that the statute violates equal protection; the statute contains a racial classification, and the fact that it has “equal application” does not immunize it from strict scrutiny; Since the legislative history shows that the statute was enacted to “preserve the racial integrity” of citizens (i.e. whites), the statute has only a discriminatory purpose and no legitimate overriding one (Loving v. Virginia)

2. “separate but equal”:  Louisiana law separated railroad cars based on race; plessy was mixed race, sat in white cars and was told to sit in black cars; court held that 14th amendment protected only political and civil equality and that social equality could only be attained through voluntary action by individuals, not by statutes (Plessy v. Ferguson)

a. Plessy was overturned by Brown v. Board of education

3. Overturning of “separate but equal”

a. Social factors:

i. WWII:  German ideology was based on racism so it was inconsistent for US to maintain racist policies and condemn the Germans for it;

ii. Cold War:  

1. capitalism v. communism:  capitalism focuses on efficiency so you have to allow people to put themselves at their highest use

2. this was an ideological war so US had to be morally superior and racism didn’t look good;

b. Brown v. Board

i. Trivia:  in 1952 at time of brown chief justice was vinson who believed in separate but equal,  but he died and warren was appointed to chief; so majority switched to 5-4 in overruling plessy; but in brown the decision was 9-0; warren wanted a 9-0 decision so last holdout was Jackson who had a heart attack and was hospitalized  – law clerk rhenquist was working for Jackson at the time

ii. Background:  NAACP had been litigating cases by claiming that the conditions weren’t equal; but they decided they didn’t want court to be able to keep using separate but equal doctrine – so they picked a case where the conditions were actually equal

iii. Why is separate inherently unequal?  

1. even if tangible things are equal (equally qualified teachers, equal pay, etc.) there are intangible feelings of inferiority

c. Suspect Classification II:  Sex

i. 2 strategies to justify distinction based on gender:

1. normative view (e.g. women belong at home)– not used to justify legislation today

2. realist view, look at how world really is

a. example:  for administrative convenience, military automatically counts wives of military men as dependents (because the wives usually don’t work and have dependent status), but requires military women to prove their husbands are dependent (Frontiero v. Richardson)

i. Note Brennan’s plurality said that any statutory scheme which draws a sharp line between the sexes solely for the purpose of achieving administrative convenience violates equal protection (i.e. administrative ease and convenience are not sufficiently important objectives to justify gender-based classifications)

ii. Level of scrutiny:

1. intermediate level used for sex

a. example:  Craig v. Boran:  Oklahoma statute; prohibited sale of beer to men under 21 but women could buy at 18; statute was based on traffic safety because men had higher drunk driver rate (10x as many men as women in this age group)

i. construction:

1. state objective:  safety (=legitimate)

2. means:  statistics don’t support the conclusion that the gender based distinction serves to achieve the stated objective

ii. arguments for making/not making a distinction based on gender:

1. drunk driving rate for males in the affected age range is only 2% which is too small to justify the statute

2. the statute will be ineffective because men will circumvent it by having the women buy the alcohol for them and the actual drinking of alcohol by males in the affected age range is not prohibited

3. statistical proof in general is not very reliable when dealing with normative concept like equal protection; court is not good at interpreting statistics

4. statistics may be off because men will be arrested and women will be “chivalrously escorted home” (Brennan footnote)

b. Mississippi Univ. for Women v. Hogan and US v. Virginia (VMI):

i. Hogan:  male tried to get into an all female nursing school; other co-ed nursing schools were available that provided a comparable education; court struck down all-female policy

1. arguments:

a. could argue that discrimination against men is different because education has traditionally discriminated against women and not men – but Craig case makes clear that court doesn’t intend to treat genders differently even if discrimination is now against men

b. could argue that there is nothing special about the all female school and equivalent education could be obtained at a co-ed school

ii. VMI:  female tried to get into all male military style school; the school had a unique educational environment and culture and no comparable educational experience was available to females; court might have accepted argument that Virginia needed an all male school for diversity purposes if this was an actual justification; but since this was a theoretical justification invented for litigation the court rejected it;

1. Other arguments for making gender distinctions:

a. some studies showed that women do better in a cooperative environment

b. lack of privacy is part of the education and this would be impossible to continue if women were allowed; court said might have to allow segregation for some purposes but this is not significant

c. Scalia:  there would not be much unique left about the school if you integrate it

d. Orginalist argument:  equal protection is only about race and slavery

iii. what if there was an all female school truly parallel to VMI?

1. could argue that it would lack intangible benefits like the prestigious name which would make the schools unequal

d. Suspect Classification III:  Alienage, Disability, Sexual Orientation

i. Disability

1. mental retardation

a. court uses mere rationality standard “with bite” 

b. factors to consider (White in Cleburne case) in determining when court should look closely

i. is the group disadvantaged in the political process

1. small and insular minority; race counts but gender doesn’t because women are not a minority and they are integrated into society

ii. history of discrimination

1. applies to race and gender

2. white:  legislation has addressed concerns of mentally handicapped so don’t need heightened scrutiny

iii. the more fundamental the right the closer the court will look

iv. suspect classifications:  some categories just don’t seem to matter so are suspect a priori

1. apply mentally handicapped case:  making distinctions based on mental handicap frequently make sense so it is not a suspect classification

v. immutable characteristics

1. if you can change that characteristic then you can always change your status if you don’t like the way you are treated – there is a dimension of choice;

vi. legal authority

vii. whenever you are talking about gender or anything else at least  you are going to have a minority of judges who are going to say there is no legal authority as a basis for what you are doing

c. marshall:  need heightened degree of scrutiny

d. Stevens:  should use a sliding scale; just look at the justifications; two ways to interpret Stevens:

i. Could use same level of scrutiny all the time but look at the arguments more closely in some cases

ii. Use sliding scale level of scrutiny

ii. Sexual orientation:

1. court uses mere rationality test

2. signficance of Romer:  hostility towards a group is not a legitimate state purpose (e.g. gays, illegal aliens, etc.)

3. Romer v. evans:

a. Legitimate purpose:

i. Court held that what is going on here is a desire to harm a politically unpopular group and this cannot be a legitimate state purpose 

b. Rational relationship


i. States proposed legitimate purposes:

1. amendment only takes away special treatment for gays, puts them in the same position as everyone else

a. court refuted this; said that Colorado has statutes giving specific protection for many other groups (e.g. military, pregnancy, etc.) but denies protection to gays if they are discriminated against

2. Liberty argument:  should be able to fire someone for any reason, e.g. if you simply don’t like someone should be able to fire him

3. Should conserve resources for more serious types of discrimination

ii. Court held that the state’s amendment are too far removed from the stated purposes

c. Scalia dissent:

i. Says that amendment is OK, there is a parallel with polygamy; states have traditionally prohibited polygamy which is a social behavior which has traditionally been rejected by the American tradition and so similarly states should be able to reject other types of social behavior

ii. Counter argument is that polygamy has other undesirable associated factors like denigration of women;

iii. Counter-counter argument is that marriage is just a social institution designed to encourage and privilege certain types of sexual behavior so it would be consistent with state marriage to do the opposite which is to explicitly discourage other types of sexual behavior

4. hypo:  state could have made argument that the legitimate state purpose was morality (and cited Bowers); counter argument would be that there is a distinction between a state of mind (being attracted to same sex) and the morally wrong acts (state here was punishing state of mind and not specific acts)

e. Discrimination:  Intent, Purpose, Effect

i. Rules from emanuels:

1. Discriminatory impact is not enough to create an equal protection violation, must have discriminatory intent;

2. discriminatory impact does not automatically trigger strict scrutiny, but it is relevant in determining whether strict scrutiny will be used (K from class)

3. Disproportionate racial impact by itself is not sufficient to prove discriminatory intent

ii. What weight should discriminatory impact have?  Arguments:

1. the very fact that there is a discriminatory effect is enough; K says this would be a more radical claim

2. a discriminatory impact does not make it unconstitutional but triggers strict scrutiny

3. could say not interested in discriminatory impact; equal protection not about impact; equal protection is about preventing discriminatory purpose

a. under this view we could make a modified version:   when we have a discriminatory impact that may under some circumstances give us some evidence that there is a discriminatory purpose; this modified third view is related to second view in that it triggers strict scrutiny

f. Affirmative Action or Reverse Discrimination

i. Arguments in support of affirmative action:

1. diversity in education is a good thing

a. claim is that there is a link between racial diversity and diversity of experience that enriches the education

i. counter argument is that race is not a good proxy for diversity of backgrounds

1. e.g. could have a survey before admitting the students that screens them for political, views, economic background, etc

b. diversity is the only possible legitimate argument that one could use to support preferential admissions (regents of university of California v. Bakke; quota not OK, but it is OK to take race into account as one factor in admissions process)

2. remedy for past discrimination (Croson - state, Adarand - feds)

a. facts of Croson:  black majority city council passed ordinance that 30% of city money for construction contracts has to go to minority owned firms

b. need link between the specific public authority and the discrimination to make the claim stick – must be able to identify who was doing the discrimination

i. can’t just use general claim of discrimination – why?

1. hard to tell if the discrimination is “benign” or not (e.g. in Croson blacks constituted a majority on the city council and blacks stood to be the beneficiaries of the ordinance so is possible that the city council just taking advantage of their political position)

2. counter argument is that there is still a significant amount of discrimination going on so should have lower standard to allow remedies

c. beneficiaries don’t have to be the same ones who were discriminated against in the past

d. statistical evidence:  if there is a significant statistical disparity between the number of qualified minority contractors willing and able to perform a particular service and the number of such contractors actually engaged by the locality or the locality’s prime contractors (i.e. disproportionate number of willing and able firms that aren’t given contracts) then an inference of discrimination might arise, even in the absence of direct proof of discrimination by a particular contractor against a particular sub-contractor on a particular project

e. arguments why less stringent standard should be applied to feds vis a vis states:

i. don’t have to worry as much about feds going too far

1. Scalia counters that not fair to replace one injustice with another

f. What about giving direct subsidies to minorities out of general taxes

i. Students didn’t give convincing arguments either way; K didn’t give arguments either

3. forward looking justifications (utilitarian argument); e.g. if it is true that minorities tend to serve underserved areas then that is a good thing

a. counter argument is that there is no data to support this; argument is not necessarily flawed but need data to back it up

4. others:

a. create more integrated society

i. argument is that we don’t currently have a racially integrated society and need some affirmative policies to achieve it (Brennan, Marshall idea)

ii. counterargument to affirmative action:

1.  leads to inefficiency because works against meritocracy

a. counter is that we have many other areas where efficiency is subordinated to other concerns (e.g. health care; might not be efficient for state to provide baseline medical care but we do it anyway)

iii. strict scrutiny applied to AA:

1. why use strict scrutiny for affirmative action

a. arguments:


i. race is not a very convincing basis on which to make distinctions so need to look at it closely

1. counter argument is that when the majority is trying to privilege the minority don’t need to look at the policies as closely

g. The Fundamental Interests strand of Equal Protection Strict Scrutiny

i. Voting:

1. when look at the history and constitution it is not obvious that voting is a fundamental right

a. examples:  

i. president: is not elected directly but through an electoral college whose members are elected by state legislators; 

ii. senate:  state legislators elected the senators

2. court doesn’t play a role in deciding whether elections are necessary or not, but once it has been decided that elections will take place then equal protection clause provides the standard for what the voting protections will be; equal protection is increasingly being interpreted to be more inclusive

3. why is voting given strict scrutiny?

a. Voting preserves other rights

b. Could argue that don’t need strict scrutiny because voting qualifications could be determined through political process

i. Counter is that political process may not be working fairly so court needs to step in

4. voting qualifications:

a. Rule:  only certain types of  voting qualifications represent legitimate state interests (J. Douglas [majority] in Harper – poll tax case)

i. acceptable qualification criteria:

1. residence

2. citizenship

3. age

ii. unacceptable qualification criteria:

1. wealth

2. race

3. creed (religious beliefs)

iii. not sure (need to ask K about this):

1. literacy requirement

2. civics knowledge test

3. argument: these disenfranchise minority groups and the poor so they violate equal protection

5. apportionment:

a. Rule:  the power of your vote cannot be based on where you live; i.e. “one man, one vote” (J. Warren in Reynolds v. Sims)

i. Note:  practical implication is that each voting district has to have the same number of voters

b. Is this really constitutionally required?

i. Arguments:

1. there is a conflict between urban and rural areas; one man, one vote policy puts rural at disadvantage because they will always be out voted

c. note difference between federal and state elections

i. feds is more mathematically equal

ii. states are allowed to deviate from mathematical equality if state has a “rational state policy”

1. note economic or other sort of group interests or history alone are permissible factors to avoid mathematical representation

iii. why difference between feds and states?

1. country as a whole is so diverse that don’t have same fairness concerns that a local minority will be treated unfairly election after election (?)

2. in fed elections decisions affect everybody in the whole country but in the state the effects are limited to the people in that state

6. Gerrymandering:

a. Race conscious gerrymandering

i. If plaintiff can show that the use of race was the “predominant factor” in drawing the districting lines, the districting scheme will be subject to strict scrutiny

ii. Arguments in favor of using strict scrutiny for race conscious gerrymandering (basically same as for affirmative action):

1. should use strict scrutiny because we can’t know if purpose is benign or not, could be used for bad purpose

iii. Arguments against:

1. its not a quota because it doesn’t guarantee a result, just promotes a result, kind of like the Harvard plan;

XI. Congressional Power to Enforce Civil Rights under Sect. 5 of the 14th Amendment

a. Section 5:  “The Congress shall have the power to enforce, by appropriate legislation the provisions of this article.”

b. Why is this more relevant today than it was 10 years ago?

i. Change in interpretation of commerce clause; if commerce clause now covers it then don’t need to use section 5 of 14th amendment;

ii. generally you can’t sue the state because sovereign immunity (changed 10 years ago), but sovereign immunity doesn’t apply for rights produced under section 5, so individuals can sue to enforce these

1. why does sovereign immunity apply to laws enacted under enumerated powers of article I but not for section 5 of 14th amendment?

a. One argument is that 11th amendment has been interpreted not to apply to later amendments

c. Emanuel’s analysis:

i. Congress  has no power to redefine scope of the amendments; example is Boerne v. Floeres – congress enacted RFRA which basically overruled Supreme Court in Smith case; Court held RFRA exceeded scope of congressional authority

ii. Because congress has the power to “enforce” the Civil War amendments, it may prohibit certain actions that don’t directly violate these amendments, if it reasonably believes that these actios would lead to violations of the amendments;

1. Congruent and proportional:  but when congress purports to use its remedial powers to redress or prevent a constitutional violation, Congress’ action has to be proportional and congruent to the threatened violation.  If not, then the congressional action is invalid (Boerne v. Flores)

d. 3 models of section 5:

i. reenactment model:

1. congress could only pass laws that clarify the existing court interpretation

ii. substantive model:

1. congress can go beyond the court to see if there are good reasons for what the state is doing; division of labor:  judiciary enforces under 14th amendment and congress has the ability to go further than court’s enforcement

2. ratchet theory:  footnote by Brennan (in Morgan) said that Congress cannot “dilute” (meaning?) 14th amendment rights, only extend them

a. possible problem with “diluting” 14th amendment protections:  proposed statute defines persons in the 14th amendment to extend benefits of the 14th amendment to the born fetus.  This extends rights from the fetus’s perspective but “dilutes” the right of privacy established in Roe v. Wade.

iii. remedial and preventive model:

1. court sets limits on the interpretation of equal protection but congress gets to decide what means are helpful in enforcing equal protection (analogous to necessary and proper clause for article 1)

a. Brennan’s test from Morgan:  law has to be adopted for a legitimate end and it has to be rationally related to that end and can’t violate any other constitutional principles

b. Boerne test:  

i. There must be a congruence and proportionality between the injury to be prevented or remedied and the means of adopting to that end

1. K says that in some way congruence and proportionality is kind of achieves same thing as narrow tailoring

ii. majority conceded that Congress must have wide latitude in determining where the line is between an appropriate remedial provision and an improper substantive re-definition of a 14th amendment right

e. example: Katzenbach v. Morgan

i. question was whether congress could pass a law protecting Spanish only speaking Puerto Ricans from a NY law requiring English speaking ability to vote; majority used substantive and remedial models, dissent used reenactment model;

ii. reenactment model:  

1. court looks to see if the state law violates 14th amendment(?); 

a. under rational basis test could argue that most debates and political discussion are in English so would pass; 

b. under strict scrutiny (the more appropriate test here – fundamental right of voting involved) could say there is a compelling interest because want voters to vote intelligently but could argue that would fail second part of test because it is not narrowly tailored – e.g. less severe state law could mandate political info be published in Spanish

iii. substantive model:

1. ?

iv. remedial and preventive model:

1. ?

f. City of Boerne v. Flores

i. Church was denied a building permit and under Religious Freedom Restoration Act (RFRA); RFRA required strict scrutiny test to be applied when burdening a person’s exercise of religion; RFRA was passed in direct response to Smith case where Court reversed its previous position and held that where a state enacts a criminal ban that is generally applicable, the state may automatically enforce that ban without any balancing of the government’s interest versus the individual’s interest, even when where the ban has the effect of substantially interfering with an individual’s exercise of his religion; court struck down RFRA

ii. Boerne is about rejecting the substantive model and narrowing down the remedial model

iii. Arguments in defense of the RFRA

1. substantive model:

a. reason why court reversed itself in smith is because it wanted a brightline rule, so it made sense for court to underenforce; so was necessary for congress to come in and go beyond the court’s position

iv. remedial model:  court changes the test from legitimate end/rational relationship to congruence and proportionality

g. Morrison case

i. Congress passed statute addressing violence against women; date rape case and local and state authorities didn’t really respond so congress stepped in and provided for a civil remedy; didn’t work under commerce clause (went too far for commerce clause)

ii. Morrison under remedial model section 5 (court says no):

1. ?

2. could claim that congress’ statute is overbroad because not all states are underenforcing

a. could have had a sunset clause or limited it to cases where congress has actually found some deficiency

XII. Freedom of Speech – An Introduction

a. Intro:

i. Reasons why speech is different 

1. freedom of expression is a vital ingredient of the pursuit of truth, especially political truth

a. Holmes:  best test of truth is the power of the thought to get itself accepted in the competition of the market

i. Problems:

1. marketplace theory rests on a presumption of rationality – a citizenry of intelligent decisionmakers seeking and empowered to govern a free society

2. control of marketplace is concentrated in mass media, market not diversified enough

2. citizen-critic of government must be given the information to enable him to do his political duty

3. freedom of speech is valuable in itself in promoting individual self-realization and self-determination

4. historical reasons:  “prior restraints” – prominent technique of restraint in English Law after invention of the printing press had been the licensing of printers, gave royal officials power to give or withhold approval

b. Why more protection for speech than conduct?

i. Something about speech doesn’t have the same potential to produce harm that conduct does

c. K says that during war time courts look closer at the arguments, i.e. things that normally would not pass muster will pass in war time; historically can see that rights decrease during war

d. Incitement (dangerous speech)

i. Clear and present danger test:  

1. “whether the words used are used in such circumstances and are of such a nature as to create a clear and present danger that they will bring about the substantive evils that Congress has a right to prevent”

2. example:  1917 espionage act made it a crime to willfully cause or attempt to cause insubordination, disloyalty, mutiny, or refusal of duty, in the military or naval forces of the United States, or to willfully obstruct the recruiting or enlistment service of the US.  Defendants were charged with conspiring to violate the act, not with actually violating the act.  Defendants had sent two draftees a document opposing the draft calling it despotism, and urging the draftees “do not submit to intimidation.”  The document did not explicitly advocate illegal resistance to the draft, it merely advocated peaceful measures such as petitioning for repeal of the Conscription Act.  Court affirmed the convictions; whether the defendant’s conduct in fact posed a clear and present danger was a factual issue and the court refused to disturb the jury’s conclusion. (Schenck v. US)

ii. Adding bite to the clear and present danger test:

1. need immediacy of danger

2. example:  Russian immigrants sent out leaflets which attacked the US production of arms that might be used against Russia; the leaflets also indicated that the immigrants were anti-german, but nevertheless urged workers not to make bullets which would be used not only against germans but Russians as well (Abrams v. US)

a. Majority convicted the Ds on basis that their intent was to interfere with the US prosecution of the war, which was prohibited by the Espionage Act.  

b. Holmes (and Brandeis) dissent said that need something more than intent to not be protected by first amendment; here these immigrants’ leaflets were “silly” and posed no danger of immediate hindrance to the war effort.

iii. Learned Hand balancing test:

1. test:  “whether the gravity of the evil, discounted by its improbability, justifies such invasion of free speech as is necessary to avoid the danger

2. example:  Ds were convicted under the Smith Act of conspiring to advocate the overthrow of the US government, and of conspiring to reorganize the US communist party, which the prosecution claimed was a group that advocated such overthrow (Dennis v. US)

a. Majority purported to apply the clear and present danger test but really applied the Learned Hand test.  Here, the evil (violent overthrow of the US government) was so great that even a small, non-imminent chance of success justified curtailing the speech

b. Concurrence by Frankfurter:  forget about clear and present danger and use a balancing test of competing interests (e.g. nature of the speech v. nature of the advocacy) 

i. Balancing should be done by congress and not by the courts

c. Dissent by Douglas:  “proximity requirement” aka “imminence requirement”; the generalized statements by Ds are far removed from specific sabotage acts so might not be close enough

iv. Modern standard:

1. New test combines parts of clear and present danger test (“imminent unlawful action”) and learned hand test (probability requirement – “likely to produce…”)

2. Test:  speech advocating the use of force or crime could only be proscribed where two conditions are met:

a. The advocacy is “directed to inciting or producing imminent lawless action” (includes requirement for intent as well as imminence)

b. The advocacy is “likely to incite or produce such action” (looks into probability of occurrence)

3. example:


a. D was a leader of an Ohio KKK group.  Video showed D saying that if our president, congress, and supreme court continues t suppress the white race then its possible that there might have to be some “revengence” taken.  He was charged with violating Ohio’s Criminal Syndicalism Statute, which forbade the advocacy of crime or violence as a means of accomplishing industrial or political reform.  Court struck down the statute because it forbade advocacy of the abstract doctrine of violent political change.  Note that the law also forbade imminent unlawful action so the law was struck down even though some applications of it might have been constitutional (this is an illustration of the overbreadth doctrine).  (Brandenberg v. Ohio)

e. Injury to reputation and sensibility

i. General themes on freedom of expression from emanuels

1. There are 2 broad classes of laws restricting freedom of expression 

a. content based

b. content neutral

2. differentiating content based from content neutral

a. ask would the harm the government is trying to prevent exist to the same degree if the listener didn’t understand English; if answer is no then the action is probably content based

3. content based government action

a. there are 5 generally unprotected categories within content based speech

i. obscenity

ii. fraudulent misrepresentation

iii. defamation

iv. advocacy of imminent lawless behavior

v. “fighting words”

b. but even unprotected categories must be regulated in a content neutral manner

c. all expression not falling into one of the unprotected categories is presumed to be constitutional and will subject any law regulating these types of speech to strict scrutiny

4. content neutral government action

5. three part test that the government must satisfy before regulation will be sustained if that regulation substantial 

ii. How are libel laws related to first amendment?

1. Arguments:

a. could argue that there has to be a state actor for first amendment to apply and there isn’t one in cases like NY Times v. Sullivan

i. could counter that judiciary is enforcing the libel law so judiciary is the state actor, but we know that this is not enough

b. could argue that Libel laws were basically used to shut up civil rights activists, and so these laws would force newspapers to change the way they report things and this affects the first amendment (so functional argument is that libel laws limit the ability to debate the issues)

iii. libel - New York Times v. Sullivan test:

1. Where P is a public official, he may only win a defamation suit against D for a statement relating to Ps official conduct if P can prove Ds statement was made either “with knowledge that it was false” or with “reckless disregard” of whether it was true or false.  These two mental states are collectively referred to as the “actual malice” requirement.

a. Note there is no liability for negligence under this standard

b. requirement that P be a “public official” has been broadened so now a “public figure” is treated same as a public official

i. Warren said differentiating between public officials and figures makes no sense

1. One argument in favor of warren’s position is that public figures have equal influence on the public as well as an equal ability to use their public status to have a forum to counter criticism against them

ii. It is sometimes difficult to know whether a person is a pubic or private figure

1. K says that high powered law partner in a private firm who has done some law review articles probably is not a public figure but someone like Alan Dershowitz who has been on CNN probably is

2. Example:  The New York Times runs an ad saying that P – the Montgomery, Alabama police commissioner – has terrorized Dr. Martin Luther King by repeatedly arresting him.  Even if these statements are false, P cannot recover for libel unless he can show that the Times knew its statements were false or acted with reckless disregard of whether the statements were true or false.  (NY Times v. Sullivan)

iv. Libel - Private figures (Gertz v. Robert Welch)

1. New York times test not used when dealing with private figures

2. States are free to decide what the standard is as long as it is something more than strict liability (i.e. it is OK for state to pass laws allowing plaintiff to win on a showing of negligence on part of D)

a. arguments:

i. private figures are less able to defend themselves in a public forum and also have not voluntarily subjected themselves to public scrutiny in the same way that many/most public figures have

b. no punitive damages for negligence

i. argument is that court is making it easier for P to win so compensation should only be for actual injury

ii. also permitting punitive damages allows juries to punish expressions of unpopular views which might exacerbate problem of media self-censorship

v. libel - statements of no “public interest” (Dun v. Greenmoss Builders)

1. where a private plaintiff sues concerning statements that involve no issue of public interest:

a. punitive damages are allowed

b. state law can include strict liability

vi. libel - schematic of 1st amendment and libel cases

	
	Public officials
	Private actors

	Issues of public concern
	NY Times case
	

	Private affairs
	
	Dun case


vii. hate speech (RAV v. City of St Paul)

1. arguments for prohibiting hate speech

a. hate speech can trigger violence

b. hate speech is itself harmful so anti-violence measures not completely effective

2. counter arguments

a. could increase punishment for violence

b. could increase police presence to prevent violence

3. K says necessary element of hate speech is mode of expression; loud march by Nazis is different than young men quietly handing out Nazi leaflets

4. Court’s restriction on anti-hate speech laws:

a. hate speech laws must not single out certain types of speech based on content

i. example:  St. Paul ordinance prohibited placement of symbols on public or private property that would “arouse anger, alarm, or resentment” for others on basis of race, color, creed, religion, or gender.  Several teenagers burned a cross inside the backyard of a black family and were convicted for violating the ordinance.  Court held the ordinance was invalid because it imposed impermissible restrictions on first amendment rights – it prohibited “fighting words” based on race, etc. but not other types that might be equally offensive, e.g. political affiliation, union membership, homosexuality, family background (RAV . City of St. Paul)

ii. K says possible exception to this (in theory) is that if the specific type of hate speech act was linked to the specific injury

viii. Commercial Speech

1. commercial speech = advertising

2. reasons why we should protect advertising speech

a. Same three reasons that protect speech to begin with (these are the big three):

i. Autonomy: 

1. easier to argue we should protect commercial speech for the autonomy of the consumer than the one doing the advertising

ii. Democracy argument:  

1. K says this is not very strong here

iii. Truth:  (missed the student’s answer)

b. Alternative reason:  we know that government is particularly bad at making judgments when it comes to speech; government is better at looking at political speech than artistic speech

3. History of commercial speech doctrine:

a. Before Virginia pharmacy case court held generally that commercial speech was not entitled to first amendment protection

i. Some exceptions were made for political advertisements like in New York Times v. Sullivan

b. Virginia pharmacy case said that even purely commercial speech was entitled to first amendment protection

c. Central Hudson case took away some of the protections for commercial speech that seemed to come out of Virginia pharmacy case;

i. Court put out four part test to see if the government regulation is OK when regulating commercial speech

4. Basis of arguments:

a. Arguments are always about informed consumer and social utility

b. K says that the rational deliberative element is what we are interested in

i. Restricting advertising to just fact based information might be OK because that wouldn’t violate anything we care about

5. Modern test:

a. Misleading or deceptive statements:  

i. Commercial speech which is misleading or deceptive or which proposes an illegal transaction is not entitled to ANY first amendment protection

b. Three part test from Central Hudson:

i. If commercial speech is covered by the first amendment (i.e. it isn’t misleading or proposes illegal conduct) then it may only be regulated if the following three conditions are met (basically intermediate level scrutiny):

1. Substantial:  regulation has to address a substantial government interest

2. Directly advance:  regulation has to directly advance that substantial government interest

3. Reasonably tailored:  regulation must be reasonably tailored to achieve the objective

ii. example:  New York state banned all “promotional advertising” (advertising intended to stimulate purchase of utility services) by electric utilities; argument was that regulation was supposed to help conserve energy; court said that the ban violated part three of the test because it was too broad – e.g. it prevented a utility from promoting the use of electricity even for those applications where it was a more efficient power source than that currently being used (Central Hudson Gas v. Public Service Commission)

iii. example:  Rhode Island banned price advertising of liquor in that state; argument was that banning price advertising would raise prices and lead to less consumption; court said that the regulation failed two parts of the test:  1)  failed to directly advance a government objective because no evidence that prohibiting price advertising significantly curtailed alcohol consumption, 2) failed third part because there were less restrictive means of reducing consumption, e.g. raising alcohol tax; (44 Liquormart v. Rhode Island)

6. Criticisms of the Central Hudson three part test:


a. If the activity is legal then shouldn’t be able to deprive people of information needed to make a free choice (Blackmun in Central Hudson)

b. There is political significance to just about everything; too hard to draw the line and say some speech is just commercial (Stevens in Central Hudson)

c. Tension between majority and minority in Central Hudson should not be viewed as a debate about level of scrutiny, should understand it as a debate about suppressing information categorically for certain kinds of advertising

7. lawful but harmful products:

a. if state regulation is trying to entirely prohibit dissemination of truthful, non-misleading commercial messages for reasons unrelated to preserving a fair bargaining process then the regulation will be reviewed with a higher level of scrutiny (Stevens majority in Liquormart v. Rhode Island

b. emanuels said that court rejected “greater includes the lesser” argument in Liquormart case (i.e. that state should be able to partially regulate alcohol, tobacco, gambling, etc. because it could totally ban them if it wanted to)

c. even though liquormart case struck down attempts to regulate harmful activities, K says that if the regulation had allowed factual advertising (e.g. price, alcohol content, etc.) but restricted other types of advertising (e.g. images depicting certain types of lifestyle?) then law probably would be OK

XIII. Freedom of religion

a. Free exercise of religion

i. What is it about free exercise of religion which deserves special protection which other liberties do not get?

1. Deeply embedded in the history of the country

2. founders of our country were running from religious persecution, thus there is a strong impetus to maintain an arena where religion can be practiced freely

3. personal identity:  there is a particularly close link between religious belief and personal identity

4. family:  religion comes from the family and is somewhat immutable (kind of like race, color); it is easier to discard your philosophical beliefs than your religion

ii. Motive of governmental regulation:

1. Discriminatory intent:  

a. where government takes an action whose purpose is to forbid or interfere with particular conduct because the conduct is dictated by a religious belief, the governmental action will be rigorously strictly scrutinized unless the act meets two requirements:

i. Neutral:

1. Neutral on its face isn’t enough, court will look at purpose of the law

2. Are there exceptions for other groups or practices

ii. Generally applicable:

1. Look for overbroadness and underinclusiveness

b. example of discriminatory intent:  

i. plaintiffs were members of a church who practiced animal sacrifice; ordinance banned killing animals that you wouldn’t eat; city claimed purpose of the ordinance was public health; court struck down the ordinance because it was clear the purpose of the law was to prevent the religious conduct of the church members and that the ordinance was underinclusive – there were no corresponding regulations for disposal of animals killed by hunters or for food thrown out by restaurants (Church of Lukumi v. Hialeah)

2. Unintended discriminatory effect:

a. Court will use strict scrutiny when regulation will cause the individual to lose unemployment benefits due to his or her religious practices

i. Example:  state law required ability to work Monday through Saturday to receive benefits; 7th day Adventist can’t work on Saturday so didn’t get unemployment benefits; court said state passed compelling state objective part (encouraging people receiving unemployment to accept work) but that it failed the least restrictive means part because an exemption for sabbatarians would not prevent them from achieving its objective (Sherbert v. Verner)

b. Employment benefit v. non-employment benefit cases

i. Sunday closing laws OK:  Previous case to sherbert (braunfield case) held that Sunday closing laws were OK even though caused financial hardship for jews who already couldn’t work on Saturday because of religious practices

1. arguments to distinguish between sherbert and braunfield

a. creating an exemption for the jewish business men would have undermined the state’s objective of tranquility on Sundays

b. braunfield was more of a business case – in theory they could hire someone to run their business on Saturdays whereas sherbert case was about an individual

2. Harlan and white (dissent) said that sherbert overrules bruanfield – unemployment benefits were intended to address unavailability of work, not relief for those who can’t work for personal reasons

3. Brennan (majority) – law in sherbert was like a tax on their religious practice which would obviously be unconstitutional – need to protect the minorities

c. criminal laws: 

i. majority:  generally applicable criminal laws that aren’t enacted with the purpose to affect religion will be upheld – don’t need to look at possibility of exemption for religious beliefs

1. example:   use of peyote was banned by the state and P used peyote for religious practices.  Court said that law was generally applicable and not enacted to affect religion so it is OK – don’t need to try to make an exemption

ii. minority:  should still use strict scrutiny when a generally applicable law burdens free exercise of religion – must have compelling government objective, there cannot be a less restrictive means and must consider exemptions for religious beliefs

b. The establishment clause

i. What reasons would someone who is committed to religion have against having government sponsored religion?

1. religious authorities have historically done badly at regulating secular activities

2. if establishing something in government becomes routine then it might lose its religious significance

a. e.g. putting in god we trust on banknotes

ii. tests:

1. coercion test

a. constitution guarantees that government may not coerce anyone to support or participate in religion or its exercise.

b. Supposed to be used as part of the lemon test; coercion test itself is insufficient to support wall of separation 

c. example:  middle school graduation ceremony; principal asked rabbi to perform a non-sectarian address; majority found that it was coercion to have religious address - attendance at ceremony was officially voluntary (but socially it is accepted to be important and can be viewed as mandatory) but participation in the religious portion of the ceremony was mandatory for all practical purposes and a dissenter is injured by fact that others might perceive him as approving of the religious statements (Lee v. Weisman)

2. neutrality test

a. basis is that state must treat sectarian and secular institutions alike; example is that state police and fire departments will protect property of religious institutions without regard to their sectarian nature

b. majority moving towards neutral test with regards to financial aid to students

i. example:  Mitchell v. Helms:  program provided publicly funded computers and teaching aids to public and private schools including parochial schools; plurality didn’t use lemon test, only looked at whether any religious indoctrination can be attributable to the government action – if both non-religious and religious are both eligible then no indoctrination will be attributed to the government aid;

ii. K says that many school voucher programs would pass muster under current court

3. wall of separation test (endorsement test)

a. supposed to guard against state endorsement of any particular religion or of religion generally

b. has mainly been applied by supreme court in public display cases

4. lemon test

a. three prongs:

i. purpose of the legislation must be non-religious

1. similar to neutrality test

ii. the legislation must have a principal or primary effect which neither advances nor inhibits religion

1. similar to neutrality test

iii. the legislation may not foster “excessive government entanglement with religion”

1. similar to wall of separation test

2. example:  Agostini v. Felton: federal program provided funds for under-performing students, applied to both public and private school students; schools tried after school of bussing private school students to public schools but didn’t work so basically out of administrative convenience and cost efficiency the public schools sent the public teachers to the private schools to provide the services; court looked at three factors:  character and purposes of the institutions benefited, nature of the state aid, and resulting relationship between government and religious authority; majority said there was some entanglement, but entanglement was not excessive(?);

a. K says entanglement test was applied here in a very discretionary way, not much bite to it

b. example:  Minnesota passed law giving a tax deduction for tuition and books that applied to both private and public schools; main beneficiary were parents of children enrolled in parochial schools; majority (Rhen) applied lemon test: secular purpose? Yes; primary effect of advancing sectarian aims of nonpublic schools? No; excessively entangles religion? No;  So the law passes lemon test and is upheld.  (Mueller v. Allen)

XIV. Bork v. Breyer

a. 2 competing jurisdictional approaches

i. Breyer’s approach:

1. sum is greater than the parts; lists a basic set of 5 principles that help interpret constitution as a whole; problem is that objectivity of the 5 elements is undermined when you have to start making moral judgments

ii. Bork’s approach:

1. would focus closely on the clauses in the texts

a. e.g. to analyze Glucksberg if no precedent existed, Bork would say that there is no substantive due process so there is no right to physician assisted suicide; but since precedent exists then he would interpret the precedents in the narrowest way possible (limit them to their facts?)
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